
1 . **_____InEffect

2 . 
3 . ** North vs. East

4 . 
5 . reg MeanGeneralAge is_EU_Northern regu_GDPR_effect is_EU_NorthernxGDPR_effect if (is_EU_Northern==1 | is_EU_Eastern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  196.27
Prob > F          = 0.0000
R-squared         = 0.3917
Root MSE          =    121.41

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Northern 71.66355 10.48484 6.83 0.000 51.07021 92.25689
          regu_GDPR_effect -62.44038 14.34836 -4.35 0.000 -90.62207 -34.25869
is_EU_NorthernxGDPR_effect -202.5921 18.14207 -11.17 0.000 -238.2251 -166.9592
                     _cons 813.4953 8.192754 99.29 0.000 797.4039 829.5868

6 . 
7 . ** North vs. South

8 . 
9 . reg MeanGeneralAge is_EU_Northern regu_GDPR_effect is_EU_NorthernxGDPR_effect if (is_EU_Northern==1 | is_EU_Southern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  388.10
Prob > F          = 0.0000
R-squared         = 0.5816
Root MSE          =    98.209

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Northern -17.43925 7.413143 -2.35 0.019 -31.99945 -2.879058
          regu_GDPR_effect -184.2904 9.000122 -20.48 0.000 -201.9676 -166.6132
is_EU_NorthernxGDPR_effect -80.74207 14.29201 -5.65 0.000 -108.8131 -52.67106
                     _cons 902.5981 3.484815 259.01 0.000 895.7536 909.4427
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10 . 
11 . **North vs. West

12 . 
13 . reg MeanGeneralAge is_EU_Northern regu_GDPR_effect is_EU_NorthernxGDPR_effect if (is_EU_Northern==1 | is_EU_Western==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  304.03
Prob > F          = 0.0000
R-squared         = 0.5490
Root MSE          =    94.786

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Northern 101.514 7.932529 12.80 0.000 85.9337 117.0943
          regu_GDPR_effect -146.2273 8.642398 -16.92 0.000 -163.2019 -129.2527
is_EU_NorthernxGDPR_effect -118.8052 14.06948 -8.44 0.000 -146.4392 -91.17129
                     _cons 783.6449 4.484893 174.73 0.000 774.8361 792.4537

14 . 
15 . 
16 . 
17 . ** South vs. East

18 . 
19 . reg MeanGeneralAge is_EU_Southern regu_GDPR_effect is_EU_SouthernxGDPR_effect if (is_EU_Southern==1 | is_EU_Eastern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  186.25
Prob > F          = 0.0000
R-squared         = 0.2497
Root MSE          =    116.05

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Southern 89.1028 8.903098 10.01 0.000 71.61618 106.5894
          regu_GDPR_effect -62.44038 14.34836 -4.35 0.000 -90.62207 -34.25869
is_EU_SouthernxGDPR_effect -121.8501 16.93746 -7.19 0.000 -155.117 -88.58309
                     _cons 813.4953 8.192754 99.29 0.000 797.4039 829.5868



20 . 
21 . ** South vs. North

22 . 
23 . reg MeanGeneralAge is_EU_Southern regu_GDPR_effect is_EU_SouthernxGDPR_effect if (is_EU_Southern==1 | is_EU_Northern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  388.10
Prob > F          = 0.0000
R-squared         = 0.5816
Root MSE          =    98.209

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Southern 17.43925 7.413143 2.35 0.019 2.879058 31.99945
          regu_GDPR_effect -265.0325 11.10222 -23.87 0.000 -286.8384 -243.2266
is_EU_SouthernxGDPR_effect 80.74207 14.29201 5.65 0.000 52.67106 108.8131
                     _cons 885.1589 6.542992 135.28 0.000 872.3078 898.01

24 . 
25 . **South vs. West

26 . 
27 . reg MeanGeneralAge is_EU_Southern regu_GDPR_effect is_EU_SouthernxGDPR_effect if (is_EU_Southern==1 | is_EU_Western==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  462.78
Prob > F          = 0.0000
R-squared         = 0.5320
Root MSE          =    87.822

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Southern 118.9533 5.67963 20.94 0.000 107.7979 130.1087
          regu_GDPR_effect -146.2273 8.642398 -16.92 0.000 -163.2019 -129.2527
is_EU_SouthernxGDPR_effect -38.06316 12.47771 -3.05 0.002 -62.5707 -13.55562
                     _cons 783.6449 4.484893 174.73 0.000 774.8361 792.4537



28 . 
29 . 
30 . 
31 . ** East vs. South

32 . 
33 . reg MeanGeneralAge is_EU_Eastern regu_GDPR_effect is_EU_EasternxGDPR_effect if (is_EU_Eastern==1 | is_EU_Southern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  186.25
Prob > F          = 0.0000
R-squared         = 0.2497
Root MSE          =    116.05

               Robust
           MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Eastern -89.1028 8.903098 -10.01 0.000 -106.5894 -71.61618
         regu_GDPR_effect -184.2904 9.000122 -20.48 0.000 -201.9676 -166.6132
is_EU_EasternxGDPR_effect 121.8501 16.93746 7.19 0.000 88.58309 155.117
                    _cons 902.5981 3.484815 259.01 0.000 895.7536 909.4427

34 . 
35 . ** East vs. North

36 . 
37 . reg MeanGeneralAge is_EU_Eastern regu_GDPR_effect is_EU_EasternxGDPR_effect if (is_EU_Eastern==1 | is_EU_Northern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  196.27
Prob > F          = 0.0000
R-squared         = 0.3917
Root MSE          =    121.41

               Robust
           MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Eastern -71.66355 10.48484 -6.83 0.000 -92.25689 -51.07021
         regu_GDPR_effect -265.0325 11.10222 -23.87 0.000 -286.8384 -243.2266
is_EU_EasternxGDPR_effect 202.5921 18.14207 11.17 0.000 166.9592 238.2251
                    _cons 885.1589 6.542992 135.28 0.000 872.3078 898.01



38 . 
39 . **East vs. West

40 . 
41 . reg MeanGeneralAge is_EU_Eastern regu_GDPR_effect is_EU_EasternxGDPR_effect if (is_EU_Eastern==1 | is_EU_Western==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  115.02
Prob > F          = 0.0000
R-squared         = 0.2679
Root MSE          =    113.17

               Robust
           MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Eastern 29.85047 9.339994 3.20 0.001 11.50573 48.1952
         regu_GDPR_effect -146.2273 8.642398 -16.92 0.000 -163.2019 -129.2527
is_EU_EasternxGDPR_effect 83.7869 16.75012 5.00 0.000 50.8879 116.6859
                    _cons 783.6449 4.484893 174.73 0.000 774.8361 792.4537

42 . 
43 . 
44 . 
45 . **** NOTS****

46 . 
47 . ** North vs. North_NOT

48 . 
49 . reg MeanGeneralAge is_EU_Northern regu_GDPR_effect is_EU_NorthernxGDPR_effect if (is_EU_Northern_NOT==1 | is_EU_Northern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  379.92
Prob > F          = 0.0000
R-squared         = 0.6017
Root MSE          =    104.48

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Northern -2.71e-12 9.253189 -0.00 1.000 -18.17424 18.17424
          regu_GDPR_effect -265.0325 11.10222 -23.87 0.000 -286.8384 -243.2266
is_EU_NorthernxGDPR_effect 4.30e-12 15.70091 0.00 1.000 -30.83824 30.83824
                     _cons 885.1589 6.542992 135.28 0.000 872.3078 898.01



50 . 
51 . **East vs. East_NOT

52 . 
53 . reg MeanGeneralAge is_EU_Eastern regu_GDPR_effect is_EU_EasternxGDPR_effect if (is_EU_Eastern_NOT==1 | is_EU_Eastern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  97.58
Prob > F          = 0.0000
R-squared         = 0.2340
Root MSE          =    116.08

               Robust
           MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Eastern 7.46729 9.185929 0.81 0.417 -10.57484 25.50942
         regu_GDPR_effect -150.55 9.189913 -16.38 0.000 -168.6 -132.5001
is_EU_EasternxGDPR_effect 88.10963 17.03907 5.17 0.000 54.6431 121.5762
                    _cons 806.028 4.154523 194.01 0.000 797.8681 814.188

54 . 
55 . **South vs. South_NOT

56 . 
57 . reg MeanGeneralAge is_EU_Southern regu_GDPR_effect is_EU_SouthernxGDPR_effect if (is_EU_Southern_NOT==1 | is_EU_Southern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  279.52
Prob > F          = 0.0000
R-squared         = 0.4878
Root MSE          =    91.506

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Southern -2.71e-12 4.928272 -0.00 1.000 -9.679647 9.679647
          regu_GDPR_effect -184.2904 9.000122 -20.48 0.000 -201.9676 -166.6132
is_EU_SouthernxGDPR_effect 4.30e-12 12.7281 0.00 1.000 -24.99932 24.99932
                     _cons 902.5981 3.484815 259.01 0.000 895.7536 909.4427



58 . 
59 . **West vs. West_NOT

60 . 
61 . reg MeanGeneralAge is_EU_Western regu_GDPR_effect is_EU_WesternxGDPR_effect if (is_EU_Western_NOT==1 | is_EU_Western==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  187.21
Prob > F          = 0.0000
R-squared         = 0.4127
Root MSE          =    83.778

               Robust
           MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Western 6.401869 6.509759 0.98 0.326 -6.383983 19.18772
         regu_GDPR_effect -143.4518 8.68987 -16.51 0.000 -160.5196 -126.384
is_EU_WesternxGDPR_effect -2.775496 12.25581 -0.23 0.821 -26.8472 21.29621
                    _cons 777.243 4.718336 164.73 0.000 767.9757 786.5103

62 . 
63 . 
64 . 
65 . 
66 . 
67 . 
68 . 
69 . **______published

70 . 
71 . ** North vs. East

72 . 
73 . reg MeanGeneralAge is_EU_Northern regu_GDPR_published is_EU_NorthernxGDPR_effect if (is_EU_Northern==1 | is_EU_Eastern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  199.12
Prob > F          = 0.0000
R-squared         = 0.3733
Root MSE          =    123.22



               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Northern 109.2668 9.926347 11.01 0.000 89.77038 128.7632
       regu_GDPR_published -14.60428 12.79464 -1.14 0.254 -39.73431 10.52575
is_EU_NorthernxGDPR_effect -262.3027 10.94716 -23.96 0.000 -283.8041 -240.8014
                     _cons 787.7666 12.29847 64.05 0.000 763.6111 811.9221

74 . 
75 . ** North vs. South

76 . 
77 . reg MeanGeneralAge is_EU_Northern regu_GDPR_published is_EU_NorthernxGDPR_effect if (is_EU_Northern==1 | is_EU_Southern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  231.68
Prob > F          = 0.0000
R-squared         = 0.4444
Root MSE          =    113.17

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Northern 84.90639 9.005266 9.43 0.000 67.2191 102.5937
       regu_GDPR_published -116.4939 10.85392 -10.73 0.000 -137.8121 -95.17563
is_EU_NorthernxGDPR_effect -243.2579 10.8122 -22.50 0.000 -264.4943 -222.0216
                     _cons 894.9718 10.40474 86.02 0.000 874.5358 915.4078

78 . 
79 . **North vs. West

80 . 
81 . reg MeanGeneralAge is_EU_Northern regu_GDPR_published is_EU_NorthernxGDPR_effect if (is_EU_Northern==1 | is_EU_Western==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  275.51
Prob > F          = 0.0000
R-squared         = 0.4373
Root MSE          =    105.88



               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Northern 185.5434 8.366168 22.18 0.000 169.1113 201.9754
       regu_GDPR_published -68.45886 9.519282 -7.19 0.000 -87.15573 -49.76198
is_EU_NorthernxGDPR_effect -252.2365 10.74892 -23.47 0.000 -273.3485 -231.1244
                     _cons 755.2783 9.013174 83.80 0.000 737.5755 772.9811

82 . 
83 . 
84 . 
85 . ** South vs. East

86 . 
87 . reg MeanGeneralAge is_EU_Southern regu_GDPR_published is_EU_SouthernxGDPR_effect if (is_EU_Southern==1 | is_EU_Eastern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  216.95
Prob > F          = 0.0000
R-squared         = 0.2247
Root MSE          =    117.97

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Southern 129.8035 8.457256 15.35 0.000 113.1926 146.4145
       regu_GDPR_published 11.71018 8.869862 1.32 0.187 -5.711169 29.13152
is_EU_SouthernxGDPR_effect -186.4793 9.063112 -20.58 0.000 -204.2802 -168.6783
                     _cons 763.2732 8.360718 91.29 0.000 746.8519 779.6946

88 . 
89 . ** South vs. North

90 . 
91 . reg MeanGeneralAge is_EU_Southern regu_GDPR_published is_EU_SouthernxGDPR_effect if (is_EU_Southern==1 | is_EU_Northern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  162.74
Prob > F          = 0.0000
R-squared         = 0.2798
Root MSE          =    128.85



               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Southern 167.2006 10.25323 16.31 0.000 147.0622 187.339
       regu_GDPR_published -145.6518 18.77719 -7.76 0.000 -182.5322 -108.7714
is_EU_SouthernxGDPR_effect -157.0658 9.848453 -15.95 0.000 -176.4092 -137.7224
                     _cons 853.8247 18.73919 45.56 0.000 817.019 890.6304

92 . 
93 . **South vs. West

94 . 
95 . reg MeanGeneralAge is_EU_Southern regu_GDPR_published is_EU_SouthernxGDPR_effect if (is_EU_Southern==1 | is_EU_Western==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  382.65
Prob > F          = 0.0000
R-squared         = 0.3863
Root MSE          =    100.57

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Southern 206.0801 6.911797 29.82 0.000 192.5046 219.6556
       regu_GDPR_published -42.1444 7.754487 -5.43 0.000 -57.37503 -26.91377
is_EU_SouthernxGDPR_effect -176.413 9.002928 -19.60 0.000 -194.0957 -158.7303
                     _cons 730.7849 7.421805 98.46 0.000 716.2077 745.3621

96 . 
97 . 
98 . 
99 . ** East vs. South

100 . 
101 . reg MeanGeneralAge is_EU_Eastern regu_GDPR_published is_EU_EasternxGDPR_effect if (is_EU_Eastern==1 | is_EU_Southern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  6.68
Prob > F          = 0.0002
R-squared         = 0.0312
Root MSE          =    131.88



               Robust
           MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Eastern 23.15429 11.4563 2.02 0.044 .6529116 45.65566
      regu_GDPR_published -32.29287 18.90393 -1.71 0.088 -69.42217 4.836439
is_EU_EasternxGDPR_effect -56.40433 14.871 -3.79 0.000 -85.61254 -27.19613
                    _cons 816.5979 18.83934 43.35 0.000 779.5954 853.6003

102 . 
103 . ** East vs. North

104 . 
105 . reg MeanGeneralAge is_EU_Eastern regu_GDPR_published is_EU_EasternxGDPR_effect if (is_EU_Eastern==1 | is_EU_Northern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  17.57
Prob > F          = 0.0000
R-squared         = 0.0707
Root MSE          =    150.06

               Robust
           MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Eastern 84.91173 13.56753 6.26 0.000 58.26366 111.5598
      regu_GDPR_published -87.76526 26.41134 -3.32 0.001 -139.6399 -35.89061
is_EU_EasternxGDPR_effect -46.03566 15.49635 -2.97 0.003 -76.47213 -15.5992
                    _cons 799.9441 26.45394 30.24 0.000 747.9858 851.9025

106 . 
107 . **East vs. West

108 . 
109 . reg MeanGeneralAge is_EU_Eastern regu_GDPR_published is_EU_EasternxGDPR_effect if (is_EU_Eastern==1 | is_EU_Western==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  48.27
Prob > F          = 0.0000
R-squared         = 0.1252
Root MSE          =    123.7



               Robust
           MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Eastern 123.7913 10.31898 12.00 0.000 103.5237 144.0588
      regu_GDPR_published 15.74215 13.20977 1.19 0.234 -10.20324 41.68754
is_EU_EasternxGDPR_effect -65.38284 14.51241 -4.51 0.000 -93.88675 -36.87893
                    _cons 676.9044 13.05246 51.86 0.000 651.268 702.5408

110 . 
111 . 
112 . 
113 . **** NOTS****

114 . 
115 . ** North vs. North_NOT

116 . 
117 . reg MeanGeneralAge is_EU_Northern regu_GDPR_published is_EU_NorthernxGDPR_effect if (is_EU_Northern_NOT==1 | is_EU_Northern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  212.49
Prob > F          = 0.0000
R-squared         = 0.3664
Root MSE          =    131.78

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Northern 146.6638 10.86956 13.49 0.000 125.3149 168.0128
       regu_GDPR_published -171.9663 16.68039 -10.31 0.000 -204.7283 -139.2042
is_EU_NorthernxGDPR_effect -232.8893 11.19384 -20.81 0.000 -254.8752 -210.9034
                     _cons 878.3181 16.46889 53.33 0.000 845.9714 910.6647

118 . 
119 . **East vs. East_NOT



120 . 
121 . reg MeanGeneralAge is_EU_Eastern regu_GDPR_published is_EU_EasternxGDPR_effect if (is_EU_Eastern_NOT==1 | is_EU_Eastern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  31.61
Prob > F          = 0.0000
R-squared         = 0.0830
Root MSE          =    127

               Robust
           MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Eastern 103.3481 10.61769 9.73 0.000 82.49385 124.2024
      regu_GDPR_published 9.096567 13.9444 0.65 0.514 -18.29172 36.48485
is_EU_EasternxGDPR_effect -64.14067 14.55232 -4.41 0.000 -92.72297 -35.55838
                    _cons 702.7509 13.77735 51.01 0.000 675.6908 729.8111

122 . 
123 . **South vs. South_NOT

124 . 
125 . reg MeanGeneralAge is_EU_Southern regu_GDPR_published is_EU_SouthernxGDPR_effect if (is_EU_Southern_NOT==1 | is_EU_Southern==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  164.06
Prob > F          = 0.0000
R-squared         = 0.2741
Root MSE          =    108.93

               Robust
            MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Southern 105.4432 7.946383 13.27 0.000 89.83563 121.0507
       regu_GDPR_published -90.17942 11.66073 -7.73 0.000 -113.0823 -67.27651
is_EU_SouthernxGDPR_effect -167.4345 9.234907 -18.13 0.000 -185.5728 -149.2961
                     _cons 870.4784 11.46022 75.96 0.000 847.9693 892.9875



126 . 
127 . **West vs. West_NOT

128 . 
129 . reg MeanGeneralAge is_EU_Western regu_GDPR_published is_EU_WesternxGDPR_effect if (is_EU_Western_NOT==1 | is_EU_Western==1), robust

Linear regression                               Number of obs     = 578
F(3, 574)         =  116.36
Prob > F          = 0.0000
R-squared         = 0.2106
Root MSE          =    97.125

               Robust
           MeanGeneralAge       Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

            is_EU_Western 96.21173 7.590351 12.68 0.000 81.30349 111.12
      regu_GDPR_published -4.502618 9.895634 -0.46 0.649 -23.93869 14.93345
is_EU_WesternxGDPR_effect -145.3857 8.761317 -16.59 0.000 -162.5938 -128.1775
                    _cons 691.0941 9.679652 71.40 0.000 672.0823 710.106

130 . 
131 . 
132 . 
133 . 
134 . 


